TRACTIVE

PRODUCT LIST
< g

4 o

= gJW“r‘!s - 2 ‘ X
: ‘,!r : ﬂc;ﬂ o _waNEERING éﬁ

|

RAIDILLON
WATCH




TRANSMISSONS |||||ZT||| I@WWI v
T06020601

RD906: 6 Speed Rear wheel drive transmission

T06020501
RD905: 5 Speed Rear wheel drive transmission

T06040601
SD906: 6 Speed Front wheel drive transmission

T06040501
SD905: 5 Speed Front wheel drive transmission

RDT175
RDT 175: 5 Speed Transmission

Tractive AB
Gjutargatan 54, S-781 70 Borlange, Sweden
+46 243 22 11 55, carl.nelson@tractive.se, www.tractivemotorsport.se



ACCESSORIES |||||ZT|| " I@WWI v

43261701 64370211 64421400 64421700
RDT 175 mountings with TTTO31 Digital display kit RFA Single output RFA twin output
bushing (each) (includes wiring & cowl) potentiometer potentiometer
@ g
& = @) # s
/ &
59170500 Standard: 59400201 52710101 60820301
Bracket for linkage quadrant Short: 59400301 Oil pipe adaptor kit for RD Concentric clutch cylinder
Gear lever gearbox

a

59391201 59391202 121114035-10.9FZ 12251002510
Ratchet return unit kit Ratchet return unit kit M14x1.5x35, suitable for ARP M10x1.0x25, suitable for
KMP D4 cylinder Geartronic ACT3250 BMW 210 CW Atlas CW

,\r\_/\‘

56063201 A5000025 36040200 38990100

Oil Sump husing RD906 S14 Oil Spray Bar GKN MS3N014 (40 mm) Swaged boot for CV-joint
A5000026 36040300
Universal Oil Spray Bar GKN MS3N044 (32 mm)

~ T06030201

RD Service kit

)
-
%
— e -
== WA
| iy
595 g

85041400 (1 litre) 85041200 (4 litres) T06030201 64430200
Tractive gear oil Tractive gear oil Universal RD service kit NTC Tempsensor M5 x 20
64430300
NTC Tempsensor M6 x 20
Tractive AB

Gjutargatan 54, S-781 70 Borlange, Sweden
+46 243 22 11 55, carl.nelson@tractive.se, www.tractivemotorsport.se



ACCESSORIES |||||ZT|| " I@WWI v

"
i
59382300 43261201 64421200 57092800
Gear lever for Geartronic shift| | Gear lever proximity switch Extension cabel DR25 with RDY06 housing with inspec-
cylinder 3P male tion ports

Gold option lever

Tractive AB
Gjutargatan 54, S-781 70 Borlange, Sweden
+46 243 22 11 55, carl.nelson@tractive.se, www.tractivemotorsport.se



SHAFTS TRACTTVE

34071801 34072000 34071900
Ford Atlas half shafts Volvo 940 high torque shafts Volvo 240 high torque shafts
(740, 755, 760, 770, 790mm) (pair) (pair)

DIFF UNITS

57900701 57901601 57900901 57901001
Volvo 1031 differential (stan- Volvo 1031 High torque (MW BMW (188) M3 differential BMW (210) differential with
dard shafts) shafts) with shafts in 86 or 94 PCD shafts in 94 or 102 PCD

57901501 57901301 57901401 57901801
Porsche 911 Historic (901) Porsche GT3 standard me- Porsche Boxster Lancia Stratos / Ferrari 308
chanical LSD

57901901 57900801 57901101
Audi Quattro differential Ford Atlas differential Mitsubishi Lancer Historic
RWD
Tractive AB

Gjutargatan 54, S-781 70 Borlange, Sweden
+46 243 22 11 55, carl.nelson@tractive.se, www.tractivemotorsport.se



BELL HOUSINGS t

57300400 57300600
BMW V8 / V10 Bell housing BMW 6-cyl Bell housing

ADAPTOR PLATES

i
t(\\ N\
Gl
58314700 58316900 5831700 58315300
BMW Adaptor plate Adaptor plate RDM Ford T9 Adaptor, Volvo RDT, vertical Adaptor plate, M45, vertical
(auto housing) (for the RDT gearbox) (for the RD gearboxes)

CLOTHING

91100700 91100700-Trachea 91100601 91100699
T-shirt, black. Sizes: S - 4XL Beanie with print Baseball cap First aid kit

Tractive AB
Gjutargatan 54, S-781 70 Borlange, Sweden
+46 243 22 11 55, carl.nelson@tractive.se, www.tractivemotorsport.se



